
currentlighting.com/exo
© 2022 HLI Solutions, Inc. All rights reserved. Information and specifications subject to change 
without notice. All values are design or typical values when measured under laboratory conditions.

Page 1 of 1

 Rev 07/27/22

UNV-ADP_93062479_A

UNV-ADP - Universal Adapter
MOUNTING BRACKET ACCESSORY

DATE: LOCATION:

TYPE: PROJECT:

CATALOG #:

Catalog No.: UNV-ADP
Doc. No.:  93062479

Mounting Notes:
Position universal adapter's pole side (labeled
above) to drill pattern on pole.
Secure adapter to pole using the supplied hardware:
(2) 3/8-16 screws, (2) 3/8 split washers, (4) 3/8 flat
washers, and (2) 3/8-16 nuts.
Assemble fixture to universal adapter's fixture side
using the supplied hardware: (2) 1/2-13 screws, (2)
1/2 flat washers, (2) 1/2 split washers, and (2) 1/2-13
nuts.
Install (2) covers using (4) 10-24 screws.

1.

2.

3.

4.

Shipping Package Contents:
Universal Adapter (1)
Cover (2)
1/2 Split Washer (2)
1/2 Flat Washer (2)
1/2-13 Nut (2)
1/2-13 Screw (2)
10-24 Screw (4)
3/8 Flat Washer (4)
3/8 Split Washer (2)
3/8-16 Nut (2)
3/8-16 Screw (2)

Material: Steel
Finish: Powder Paint
Weight: 5 lbs

UNV-ADP - Universal Adapter
 MOUNTING BRACKETS ACCESSORY

10-24 SCREW (4)

#2 DRILL PATTERN
FIXTURE SIDE

UNIVERSAL DRILL PATTERN
POLE SIDE

2.06

7.87

O .56
(2) PLCS

O .62

.88

O .44
(4) PLCS

.56

O .56

4.00

2.00

4.50

4.15

COVER (2)

Spaulding Lighting
701 Millennium Blvd
Greenville, SC 29607

Technical Support: (864) 678-1000
Fax: (864) 898-1065

www.spauldinglighting.com

3.50

Compatible with: #1, #5, #6 Mount Fixtures & #2 pole mount


